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=T )| = H = 8 )| = H = g A ol&g
N 2 1,450 2,992 4,442 1,400 2,200 3,600 81.0%
£ & 1205 4491 5,696 852 3,200 4,052 71.1%
CH 560 1,625 2,185 489 1,259 1,748 80.0%
o & 881 2360 3,241 928 987 1,915 59.1%
& = 321 935 1,256 321 859 1,180 93.9%
A 229 1,009 230 229 1,009 230 100.0%
£ 4 367 1,335 1,702 367 667 1,034 60.8%
N & 127 583 710 127 583 710 100.0%
4 Il 2,066 5,807 7,873 1,456 3,364 4,820 61.2%
D; ;,_l 743 2,511 3,254 660 1,909 2,569 78.9%
g 1,387 B,776 7,163 1,022 2,603 3,625 50.6%
= = 835 3,531 4,366 443 1,623 2,066 47.3%
= 1,644 7,332 8,976 1,017 2,333 3,350 37.3%
&= 1,426 6,010 7,436 548 1,798 2,346 31.5%
&Y 1,574 9,251 10,825 315 1850 2,165 20.0%
3= 2,674 7,973 10,647 1,669 4,900 6,569 61.7%
a4 1,772 7,670 9,442 1,027 3,662 4,689 49.7%
Z & 562 1234 1,796 474 802 1,276 71.0%
N = 495 1,595 2,090 218 809 1,027 49.1%
g 20,318 74,020 94,338 13,562 36,417 49,979 53.0%




